U-Substitution

	1. 

	Evaluate the integral.

 



	2. 

	Evaluate the integral.





	3. 

	Evaluate the integral.






Work Problems

	1. 

	A heavy rope, 20 ft long, weighs 0.6 lb/ft and hangs over the edge of a building 100 ft high. How much work is done in pulling the rope to the top of the building? 

Select the correct answer. 

a.   220 ft-lb         b.   70 ft-lb         c.   -31 ft-lb         d.   120 ft-lb         e.   121 ft-lb


	2. 

	A heavy rope, 40 ft long, weighs 0.8 lb/ft and hangs over the edge of a building 110 ft high. At the end of the rope is a large Patriots Helmet weighing 30 lbs.  How much work is done in pulling the Helmet to the top of the building? How much work is done in pulling it half the distance of the rope.  
 



	
	

	3. 

	

An aquarium 7 m long, 1 m wide, and 1 m deep is full of water. Find the work needed to pump half of the water out of the aquarium. (Use the facts that the density of water is kg/m)

Select the correct answer.

a. 8,575 J          b. 7,575 J        c. 8,425 J        d. 8,586 J        e. 8,585 J


ArcLength (Parametric Equations)


	1. 
	Find the length of the curve.






	
	





	
	



	2. 

	

A steady wind blows a kite due west. The kite's height above ground from horizontal position x = 0 to x = 50 ft is given by  Find the distance traveled by the kite. 

	3.
	


Find the length of the curve.


 

	4. 

	


Eliminate the parameter to find a Cartesian equation of the curve. 


 

Select the correct answer.






 a.        b.        c.        d.        e.  



	5. 

	Find the length of the curve.


 

Select the correct answer.






 a.        b.        c.        d.        e.  



	6. 

	Find parametric equations to represent the line segment from (-1, 2) to (10, -6). 

 Select the correct answer.


 a.  

 b.   

 c.  

 d.   

 e.  
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